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Question Number : 1 Question Id : 3210111501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following diseases is directly causing fibrosis of the tissue due to coal dust inhalation among mining
workers?

Options:

1 « Anthracosis

- u Byssinosis
=z % Pneumoconiosis

4 w Bagassosis

Question Number : 1 Question Id : 3210111501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 3210111502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Vitamin A deficiency is one of the most common nutrient deficiency seen in children. One of the following is a
svmptom of Vitamin A deficiency:

Options:



Night blindness
- % Malnutrition

3 % Anemia

4 % Dermatitis

Question Number : 2 Question Id : 3210111502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 3210111503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Inhalation of cotton fiber dust over a long period of time causes:

Options:
, w Farmer’s lung

> % DBagassosis

o o Byssinosis

4 % Anthracosis

Question Number : 3 Question Id : 3210111503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 3210111504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which medical condition will develop from severe blood loss?

Options:
, = Anaphylaxis

> % Hypothermia

- » Hypoglycemia

4 « Shock

Question Number : 4 Question Id : 3210111504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 5 Question Id : 3210111505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A screening test is intended for:

Options:



, w diagnosis
- « Initial examination
% % treatment advice

4, » planning discharge

Question Number : 5 Question Id : 3210111505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 6 Question Id : 3210111506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tuberculosis is caused by

Options:
1 % Salmonella

Acinetobacter

P2
®

Mycobacterium

4 % Pneumococcus

Question Number : 6 Question Id : 3210111506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 3210111507 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the false statement about hepatitis-B infection.

Options:
1 % Contaminated blood is a source of infection

- » Can be prevented by vaccination

3 « It is an acute illness

, w The infection spread through carriers

Question Number : 7 Question Id : 3210111507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 3210111508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The normal systolic blood pressure is:

Options:

1« 120 mmHg



5 % 110 mmHg
5 % 100 mmHg

4 % 90 mmHg

Question Number : 8 Question Id : 3210111508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Options:

, « 120 mmHg

5 » 110 mmHg

5 » 100 mmHg

4 = 90 mmHg

Question Number : 9 Question Id : 3210111509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The kidneys are located in the:

Options:
, % thoracic cavity

- w peritoneal cavity

- u pelvic cavity

4  letroperifoneal cavity

Question Number : 9 Question Id : 3210111509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 3210111510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fontanelle is seen in:

Options:

1 % abdomen

> « skull
= % heart

4 % chest

Question Number : 10 Question Id : 3210111510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 3210111511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which section of the ear holds the three smallest bones in the human body?
Options:

1 % Outer ear



> « Middle ear
= % Inner ear

4 % Auditory cortex

Question Number : 11 Question Id : 3210111511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 12 Question Id : 3210111512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The central nervous system (CNS) contains:

Options:
1 % brain and cranial nerves

> u spinal cord and spinal nerves

- o brain and spinal cord

, » cranial and spinal nerves

Question Number : 12 Question Id : 3210111512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 3210111513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A pulse rate over 100 beats/min refers to:

Options:
, w» Bradycardia

- » Bounding pulse

% % Pulses alternus

e, Tachycardia

Question Number : 13 Question Id : 3210111513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 3210111514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Lack of oxygen in the tissues is known as:
Options:

1« Anoxia



5 w Asphyxia

- » Cyanosis

, # Hypoxemia

Question Number : 14 Question Id : 3210111514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 15 Question Id : 3210111515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The nephron is the functional unit of:

Options:
1 % brain

> % heart
- o kidney

4 % lungs

Question Number : 15 Question Id : 3210111515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 3210111516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The site of RBC destruction is:
Options:

1 # DBone marrow

> % Intestine

- » Kidney

s Spleen

Question Number : 16 Question Id : 3210111516 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 3210111517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Decreased number of platelets is known as:
Options:

, % Neutropenia



> w Monocytopenia

i Thrombocytopenia

, = Leukocytosis

Question Number : 17 Question Id : 3210111517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 18 Question Id : 3210111518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The apex of the heart is formed by:

Options:
, w rightatrium

> % left atrium

_— right ventricle

4 « left ventricle

Question Number : 18 Question Id : 3210111518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 3210111519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Bones are connected by the following structure:

Options:
1 % Tendon

o o Ligament

= % Suturess

4 ® Bursa

Question Number : 19 Question Id : 3210111519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 20 Question Id : 3210111520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT a benefit of a home visit by a comumunity health nurse?
Options:

, w Understand the situation of the family



> w Opportunity to observe the surrounding environment
- w Family practice can be observed

4« Advice treatment to the family members

Question Number : 20 Question Id : 3210111520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

farafafea # @ o ot & oafis w78 @ & an W &1 RS &3 &1 F15 an
e 87

Options:

| x TNER @7 Rufd wEsEr

5 x HTAYITE & IIATEL0T T HIellehed ohiel T HITET

5w UIRE Fr gUT WA

, v TNER F WSENr F 3TER FH AR

Question Number : 21 Question Id : 3210111521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 3210111521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A CPR is given to a person with;

Options:
, & ARDS



> % Atelectasis
z « Cardiac arrest

4 % Loss of consciousness

Question Number : 22 Question Id : 3210111522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The minimum distance from the sanitary well and the source of contamination should be:

Options:
1 % 15 feet

> o 50 feet

- w 50 yards

4 % 50 meters

Question Number : 22 Question Id : 3210111522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=0T FIT AR 90T F W & AT FgFaH g et g =nfge?

Options:
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Question Number : 23 Question Id : 3210111523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Animals or persons who have NO symptoms of the disease but have infective pathogens in their body are called as:

Options:
1 % case

> «F Carrier



3 % host

, = infectious agent

Question Number : 23 Question Id : 3210111523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % ©heh

o Seh

S_ﬁ-fﬁ-\q

4 % THIHE THAC

Question Number : 24 Question Id : 3210111524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Identify the indicator which is considered by the UNICEF as the best indicator of social development and well-being of
any country. Identify.

Options:
, = Infant Mortality Rate

> % Child Death Rate

- + Child Mortality Rate

4 » Perinatal Mortality Rate

Question Number : 24 Question Id : 3210111524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 3210111525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Health promotion activities include:

Options:

| « exercise and good nutrition

- % poor hygienic condition

- u exposure to air pollutions

, % smoking and drinking

Question Number : 25 Question Id : 3210111525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 26 Question Id : 3210111526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One of the following risk factors for cardiovascular heart disease is “non-modifiable™ is
Options:

, % Smoking



o e

4 = Obesity

Question Number : 26 Question Id : 3210111526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 27 Question Id : 3210111527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a component of minimum need program?

Options:
, w Housing for people

> w Clean drinking water

= % Nutrition

4 + Eradicating rural poverty

Question Number : 27 Question Id : 3210111527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 3210111528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not true with regard to ICDS beneficiaries?
Options:

, w Pregnant mother

> % Children between the age of 1-Syears

- u Nursing Mothers

4 « Children age between 6-10years

Question Number : 28 Question Id : 3210111528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 3210111529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The person who is collecting vital statistics at the district level is a:
Options:

1 % chowkidar



> % district health officer
z « school teacher

4, % grass root level worker

Question Number : 29 Question Id : 3210111529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 3210111530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following should NOT be done by the person who suffer from bleeding nose?

Options:

, = Apply an ice pack to the bridge of the nose

5 w Instruct him/her to breathe through the nose

= « Blow the nostril

4  Tilt the neck up with head backward

Question Number : 30 Question Id : 3210111530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 3210111531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the acronym ABC used during first aid procedures stand for?

Options:
, » Alrway, Breathing, Cardiac

o o Alrway, Breathing, Circulation

5 R Assessment, Breathing, Circulation

4 = Alrway, Body check, Cardiac

Question Number : 31 Question Id : 3210111531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 32 Question Id : 3210111532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the health condition which requires immediate action.

Options:



, w Deep cuts with foreign objects

- % Bone fracture

3 « Cardiac arrest

i

4 % Homicide

Question Number : 32 Question Id : 3210111532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 33 Question Id : 3210111533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is First Aid?
Options:

, « nitial care of the ill or injured

- % Firstresponse to natural disasters

=z % How to use a First Aid kit

4, % Medical treatment of an injured person

Question Number : 33 Question Id : 3210111533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 3210111534 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 34 Question Id : 3210111534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What should vou commence if there is NO breathing in an unconscious person?

Options:
1.« CPR

> % Defibrillation
- u Nothing

4 w Call for help

Question Number : 35 Question Id : 3210111535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The external bleeding can be stopped by

Options:



, » Apply RICE —Rest, Ice, Compression and Elevation

o « BY applying direct to or indirect pressure around the wound

=z % Run the wound under water

4 = Apply an adhesive strip to the wound

Question Number : 35 Question Id : 3210111535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 36 Question Id : 3210111536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If an untrained person needs to provide CPR to an adult person, what is the chest compression would be?

Options:
, + 100 to 120 a minute until paramedics arrive

> % 15 compressions and 2 breaths at the rate of 6 repeats in 2 minutes

- % 30 compressions and 2 breaths at the rate of 5 repeats in 2 minutes

4 % 30 compressions and | breath at the rate of 5 repeats in 3 minutes

Question Number : 36 Question Id : 3210111536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 37 Question Id : 3210111537 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT true regarding the levels of communication?

Options:
, w Intrapersonal

- % Interpersonal
= % Public

4 « Private

Question Number : 37 Question Id : 3210111537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 38 Question Id : 3210111538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an educational domain?

Options:



1« Cultural
Cognitive
3z % Affective

Psychomotor

Question Number : 38 Question Id : 3210111538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 39 Question Id : 3210111539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mass media is NOT an effective communication medium because it is:
Options:

, # costly

> « traditional
= ® impersonal

4 % Inaccessible

Question Number : 39 Question Id : 3210111539 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 40 Question Id : 3210111540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When providing education to aged people, the educator needs to consider that they suffer from one of the following
tvpes of comumunication barrier:
Options:
1 % Environmental

> u Psychological

- « Physiological

4 % Cultural

Question Number : 40 Question Id : 3210111540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 41 Question Id : 3210111541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following principles of health education has a key role in changing the minds of people?
Options:

1 % Motivation



-  Patticipation
= % Interest

, = Comprehension

Question Number : 41 Question Id : 3210111541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 42 Question Id : 3210111542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 42 Question Id : 3210111542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the most common complaint of women with IUD insertion?
Options:

1 % Pain



> % Pelvic infection
% % Perforation

4 Bleeding

Question Number : 43 Question Id : 3210111543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In under developing countries, child death rate is high mostly due to:

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 lack of maternal care
> childhood cancers
3 accidents

4 congenital abnormalities

Question Number : 43 Question Id : 3210111543 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

| THETR F 2@ H FHE

. TE9T FT HET

4 SATHSATd HATHI

Question Number : 44 Question Id : 3210111544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most comumon cause of maternal death is:
Options:



, « Obstetric bleeding

- % Anemia

- % Pelvic inflammatory disease

4 = Pregnancy-induced hypertension

Question Number : 44 Question Id : 3210111544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 45 Question Id : 3210111545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

For disinfecting large volume of water one of following forms of chlorine is preferred:
Options:

, w Bleaching powder

5 i Chlorine gas

z % Chloramine

4 % Percheron

Question Number : 45 Question Id : 3210111545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 46 Question Id : 3210111546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The shared rules or guidelines for behavior in specific situations is:

Options:
1 « culture

5 #% norms
= % stafus

4 % values

Question Number : 46 Question Id : 3210111546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| o TEPH

o % HIACS

Question Number : 47 Question Id : 3210111547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An Indian is said to be the next best Englishman because of the following phenomena:

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:



1 social stress

iceberg phenomenon
conditioning factors

4 acculturation

Question Number : 47 Question Id : 3210111547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:
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Question Number : 48 Question Id : 3210111548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An agrarian society in India is heightened by:
Options:

|« Village community

- % urban community

5 w tribal community

4 % provincial community

Question Number : 48 Question Id : 3210111548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 49 Question Id : 3210111549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pattern of behavior of an individual in a certain group or situation is referred to as:

Options:
1 % Social role

o o Social system
= % 5Status

4 % Institution

Question Number : 49 Question Id : 3210111549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 50 Question Id : 3210111550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A tribe as a group is closest to:



Options:
1 % aclass

> % an association

- o @ cCOommunity

4 % acaste

Question Number : 50 Question Id : 3210111550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 51 Question Id : 3210111551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The term *“Society’ refers to:

Options:
, w persons living area

5 w persons professing the same religion

i the system of social relationship

, w organized relation between individuals

Question Number : 51 Question Id : 3210111551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 52 Question Id : 3210111552 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the requirement of organising guidance and counseling services?
Options:

, » Budget

- « Trained counselors
% % Student data bank

4 w Logistics

Question Number : 52 Question Id : 3210111552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 53 Question Id : 3210111553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which article of the Constitution directs the Government to establish panchayats to serve as institutions of local self-
Government?

Options:



1 « Article 40
> % Alticle 42
= % Article 44

4 % Article 46

Question Number : 53 Question Id : 3210111553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 54 Question Id : 3210111554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a character of an organization?

Options:
1 % Goal

o o Norms
% % Incoordination

4 ® Status

Question Number : 54 Question Id : 3210111554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 55 Question Id : 3210111555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a technique of casework?

Options:

L % Interviewing

- % Observation

- w Counseling

4  Lobbying

Question Number : 55 Question Id : 3210111555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 56 Question Id : 3210111556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the correct answer.
Recording in social casework can be classified as:

Options:



, w Problem-oriented, field-oriented. process-oriented, individual-centered

o  Process recording, narrative recording, Role recording, and summary recording

- » Referral summaries, diagnostic summaries. narrative records and problem-oriented records.

, % Process-oriented narrative situational and analytical

Question Number : 56 Question Id : 3210111556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 57 Question Id : 3210111557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Putting oneself in the shoe of another person and understanding his/her perceptual world is:
Options:
, % genuineness

o o empathy

- % positive regards

4 % sympathy

Question Number : 57 Question Id : 3210111557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 58 Question Id : 3210111558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following is incorrectly matched?

Options:
1 = Murray G. Ross — Community

> % P.D.Kulkami— Social Policy in India

- » H. B. Trecker — Social Group Work

4 « M. S. Gore — Social Case Work

Question Number : 58 Question Id : 3210111558 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 59 Question Id : 3210111559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Medical social work had its beginning at:

Options:
1 % India

> % Sweden
5  United Kingdom

4 % China

Question Number : 59 Question Id : 3210111559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 60 Question Id : 3210111560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a part of social casework process?

Options:
1 % Assessment

> o« Treatment

- » Content analysis

4 % Evaluation

Question Number : 60 Question Id : 3210111560 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




Question Number : 61 Question Id : 3210111561 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Treatment in social casework involves:
Options:

, w counseling

- % environmental modification
% % administration of social services

4  all of the given options

Question Number : 61 Question Id : 3210111561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 62 Question Id : 3210111562 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One DALY means:
Options:

.+ One healthy year of life lost



5 w One healthy month of life lost
5 w One year of life lost

4, = One year of life gained

Question Number : 62 Question Id : 3210111562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 63 Question Id : 3210111563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The major source of health information in India is;

Options:
1. ® census

- » hospital records

5 w disease registers

4 Sample registration system

Question Number : 63 Question Id : 3210111563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 64 Question Id : 3210111564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 64 Question Id : 3210111564 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Minimum daily per capita requirement of water for domestic purpose is:

Options:
1 « 150 liters
100 gallons

3 % 50 liters

30 liters

s
®

Question Number : 65 Question Id : 3210111565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT an absolute contraindication for insertion of IUD?
Options:

, = Pelvic inflammatory disease



> % Suspected pregnancy

- « Menorrhagia

4 u HO Ectopic pregnancy

Question Number : 65 Question Id : 3210111565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 66 Question Id : 3210111566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Human development index is based on all the following:

Options:

, w Perinatal mortality rate

- o Life expectancy at birth
- % Income of the family

, = Combined gross enrolment ratio

Question Number : 66 Question Id : 3210111566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 3210111567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 67 Question Id : 3210111567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which type of research focuses on identifying most at risk and the methods of detecting these groups and their needs?

Options:
1 o DE‘SEl‘lpﬂVE research

> % Analytic research

z % Evaluative research

4 % Collaborative research

Question Number : 68 Question Id : 3210111568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT part of the global malaria action plan?

Options:



1 % Control

Elimination

ra
®

= % Research

4 « FEradicate

Question Number : 68 Question Id : 3210111568 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 69 Question Id : 3210111569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Health services and development committee is called as:

Options:
1. Bhore committee

- % Mudaliar committee
= % Chadha Committee

4 % Mukerji committee

Question Number : 69 Question Id : 3210111569 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 70 Question Id : 3210111570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

World Environmental day is observed on:
Options:

| % May 12

> o June 5

5w Aprl7

4w Julyd

Question Number : 70 Question Id : 3210111570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 71 Question Id : 3210111571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a part of the group approach for any kind of health education in the community?

Options:
1 % Folk method



5 w Street play

= % Demonstration

4 « Interview

Question Number : 71 Question Id : 3210111571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 72 Question Id : 3210111572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Behavioral modification involves:
Options:

, % solving problems through insight

> % bringing behavior under stimulus control

- % demonstrating learning in the absence of reinforcement

4  application of learning principles to change behavior

Question Number : 72 Question Id : 3210111572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 73 Question Id : 3210111573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Person-focused psychological process in social work are aimed at:

Options:

, = social policy

> w planning and development
- o counseling and therapy

4 % online instructions

Question Number : 73 Question Id : 3210111573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 74 Question Id : 3210111574 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is the most comprehensive aim of education?

Options:

, w Fostering individual development



> u Prepare individuals useful to society

- o Todevelop the individual personality in all dimensions

4, = Individual development for the social good.

Question Number : 74 Question Id : 3210111574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 75 Question Id : 3210111575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a criterion for a screening test?

Options:
, = Availability of effective treatment

-  Availability of medical personnel

5 % Adequate knowledge of the condition

, = Expectations of benefits of screening for more than one risk

Question Number : 75 Question Id : 3210111575 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 76 Question Id : 3210111576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Health education agency that works under the ministry of welfare:

Options:
, % division of public information

> « central health education bureau

- u block development officer

4 % central health bureau

Question Number : 76 Question Id : 3210111576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 77 Question Id : 3210111577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following examples of green leafy vegetables has the highest carotene content by weight?
Options:

1+ Spinach



> % Amaranth

- u Fenugreek

4 % Coriander

Question Number : 77 Question Id : 3210111577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 78 Question Id : 3210111578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“Stabilized bleach™ is prepared by mixing bleaching powder with:
Options:

1 « lime

> % quick time

3 % alum

4 % sulfur

Question Number : 78 Question Id : 3210111578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 79 Question Id : 3210111579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The code of personal hygiene in the Indian system of medicine was given by:

Options:
1 % Dhanvanthari

Charaka

2
®

= o Manu

Vasghbjatta

Question Number : 79 Question Id : 3210111579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 80 Question Id : 3210111580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 80 Question Id : 3210111580 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the school eve screening programme, the children are screened by:

Options:
, w Ophthalmic Assistants

- w General duty doctors
- w Multi-purpose workers

4 « Trained Teachers

Question Number : 81 Question Id : 3210111581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The organisation that creates a link between individual, the civil society and the government is called as:

Options:
1 non-governmental organizations (NGO)

- u political parties
% % academic institutions

, = religious institutions

Question Number : 81 Question Id : 3210111581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 82 Question Id : 3210111582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
International Red Cross Society was founded by:
Options:

, w Henry Kissinger

- u Henry Bernard
- » Henry Goldsmith

4 + Henry Dunant

Question Number : 82 Question Id : 3210111582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 83 Question Id : 3210111583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following program is supported by UNICEF in India since its inception?
Options:

, w pulse polio program



-  BCG Vaccination program
o % ICDS Program

, = mid-day meal program

Question Number : 83 Question Id : 3210111583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 84 Question Id : 3210111584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Planned Parenthood Federation of America (PPFA/0, one of the following is NOT a criterion for " Ideal
woman for insertion"

Options:
1 « Borne at least 2 children

- % No history of pelvic disease
- w Willing to check IUD tail

4 » Monogamous relationship

Question Number : 84 Question Id : 3210111584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 85 Question Id : 3210111585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sharada Act (1929) deals with one of the following social evils:

Options:
1 #% Child labor

- + Child marriage
% % Child abuse

4 % Juvenile delinquency

Question Number : 85 Question Id : 3210111585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 86 Question Id : 3210111586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Vision 2020" : the “Right to sight™ a global initiative is funded by:

Options:



> u Rotary Club International
= % World Bank

4 « World Health Organization

Question Number : 86 Question Id : 3210111586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 87 Question Id : 3210111587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Headquarters for SEARO region of WHO s situated at:

Options:
1 W India

> % Malta
% % South Africa

4 % Thailand

Question Number : 87 Question Id : 3210111587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 3210111588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 88 Question Id : 3210111588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does Social justice denote?
Options:

, « Equal treatment of all citizens without any social distinction

- » Equal distribution of wealth
-+ % Equal participation of women in politics

4 = Equal employment opportunities between men and women

Question Number : 89 Question Id : 3210111589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The social development process is primarily directed towards one among the following aims:
Options:

, « Economic growth with distributive justice

- » Removal of poverty and hunger



- u Integrated rural development

, » Integrated women and child development

Question Number : 89 Question Id : 3210111589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 90 Question Id : 3210111590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most widely accepted indicator of the general economic performance of a country is:

Options:
1 % Gross Domestic Product

5 # Per capita Income

z « Gross National Product

, % Per capita annual income

Question Number : 90 Question Id : 3210111590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 91 Question Id : 3210111591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The basic document for organizing family planning work in India is:

Options:
, w Birth register

> % Under-five register

-  Eligible couple register

4 % Target couple register

Question Number : 91 Question Id : 3210111591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 3210111592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 92 Question Id : 3210111592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An Indian is said to be the next best Englishman because of the following phenomena:

Options:

1 % Social stress

- u lceberg phenomenon
- % Conditioning factors

4 « Acculturation

Question Number : 93 Question Id : 3210111593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to WHO, blindness is defined as acuity is less than:

Options:
1 % 2/60
5 o 3760

5 % 4/60

5/ 60

-
b
L

Question Number : 93 Question Id : 3210111593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 94 Question Id : 3210111594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At the community level the prevention of infection can be done through the first line of intervention is:

Options:
1 % administration of antibiotics

-  hand hygiene

5 = Wearing gloves

4 = Wearing mask

Question Number : 94 Question Id : 3210111594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 95 Question Id : 3210111595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In rehabilitation, restoration of personal dignity and confident is called as:

Options:
1 % medical rehabilitation

5 of psychological rehabilitation



% % vocational rehabilitation

4 % social rehabilitation

Question Number : 95 Question Id : 3210111595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qfary H, safeaea IRAT 3R HcATSRary H gl F FAT Fgl AT 87

Options:

lwﬁﬁﬂ?\rrrgaaﬁ:tr

z_gnﬂﬁﬁaﬁmqﬁa‘ma
e Eﬂﬁﬁﬁﬁ:gﬁ‘q’m

oa e O

Question Number : 96 Question Id : 3210111596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sex ratio means:

Options:

1 # the relation between male and female.

- u theratio between the number of adult male and an adult female in a population.

- % theratio between the number of female and number of a male in a population.

4 « the number of females per 1000 males in a population.

Question Number : 96 Question Id : 3210111596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 3210111597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 3210111597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Panchayati Raj System is based on;
Options:

, % community development

> % corporate responsibility

z « democratic decentralization

4 B political education

Question Number : 98 Question Id : 3210111598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

*ASHA" denotes at the front-line community worker:
Options:

1 % Association of Scientific Health Activists



> % Association of Social Health Activists
z « Accredited Social Health Activists

4 % Accredited Social Health Association

Question Number : 98 Question Id : 3210111598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 99 Question Id : 3210111599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Primary Health Centre caters a population in rural India:

Options:

| % 5.000

, w 10,000
5 20,000

4 30.000

Question Number : 99 Question Id : 3210111599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 100 Question Id : 3210111600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SF=-F==T HAITT FH A fAfoad # § &I 27

Options:
| v S &THAT

> % HdHd

4 % SiedSHl qle

Question Number : 100 Question Id : 3210111600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Child -Woman ratio is a measure of:
Options:

i o fertility

- w igration
» mortality

o

4, = population growth

General Aptitude

Section Id : 32101126
Section Number : 2

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 25
Number of Questionsto be attempted: 25
Section Marks: 25
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section I1d: 32101150
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 3210111601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which vessels carry carbon dioxide rich blood from all parts of the body back to the heart?

Options:
, w Capillaries

> o Veins

5 % Artery

4 % Ventricles

Question Number : 101 Question Id : 3210111601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 3210111602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id ;: 3210111602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The urine consists of urea.

Options:
1. * 19%%

oo® 5%

Question Number : 103 Question Id : 3210111603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who won the 2018 men’s Ballon d’Or Award?
Options:

1 % Mohamed Saleh

- % Cristiano Ronaldo
=z % Lionel Messi

4 « Luka Modric

Question Number : 103 Question Id : 3210111603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 104 Question Id : 3210111604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When is “International Day of Yoga™?

Options:
1« 21 June

21 July
22 May

22 April

Question Number : 104 Question Id : 3210111604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id : 3210111605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
NITI Aayog was formed in the year:

Options:
;. % 2014
5 % 2013

5 % 2016



i #2015

Question Number : 105 Question Id : 3210111605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number : 2
Sub-Section I1d: 32101151
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 3210111606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternatives which has analogous relation to the given words:

Adrenal, pituitary, Thyroid, ?
Options:
1 « Pancreas

- % Liver
5 % Lungs

4 & Heart

Question Number : 106 Question 1d : 3210111606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 3210111607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If certain code language MEDICINE is the coded as ‘EMIDICEN’, then what would be the code for ‘BHOPAL’ in that
code language?

Options:
. v HBPOLA

> % HBLCGA
- % POBAGC

4 % AOCESU

Question Number : 107 Question Id : 3210111607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 3210111608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sanjana is sister of Richa. How is Richa’s father’s mother’s daughter related to Sanjana?

Options:



Sister

,_.
&

Cousin

rJ
&

.

= « Paternal Aunt

Mother

o=
&

Question Number : 108 Question Id : 3210111608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 3210111609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many squares are there in the following figure?

mp
l O

|

4
Options:
e F 12
> o 15
= W 1?

4 * 19



Question Number : 109 Question Id : 3210111609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 3210111610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The following Venn diagram shows information about number of persons who like different types of Chocolates
produced by company ZXYX during a survey in the school LMN

What is the ratio of number of students who like chocolates of type C only to Type A and B but not C?

Options:
1, *® d:3

2.;'4].

Question Number : 110 Question Id : 3210111610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 3210111611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Study the following figure carefully. There is an analogous relation between the first and second pairs. Choose the

missing figures (I and IT) from the alternatives such that they form pairs

r o ¥ S

£ %
o

Options:

d] 0D



14d) DG
W] 19

Question Number : 111 Question Id : 3210111611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ﬁ-‘lﬁﬁﬁﬁ';ﬁ%ﬁ&mdqﬂqm 3T | Fwedl § § 37 o5 Hpla T4, S & TS Hepiadr &
HT 3-1?-__135‘71' |

£ B, B g
Options:
//_\\ e
//~\ W
i ® | I
@ s
Q T
- ® | I
U i W
£ | <=
= W | [
R
===
|



Question Number : 112 Question Id : 3210111612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What would be the missing term in the following series?

3. 6.24, 144, 1152, 2, 138240
Options:
| % 34560

> % 69120

s o 11520

Question Number : 112 Question Id : 3210111612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Teafoile g@er & Tea e 71 HW

3, 6, 24, 144, 1152,?, 138240
Options:

| = 34560
. % 69120
-« 11520

. = 17280

Question Number : 113 Question 1d : 3210111613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the value of x, where x is a positive integer.

=

h: .

f

=16

]

x—

Options:
1 ® 250



L
®
IJ
Lh
oh

Question Number : 113 Question Id : 3210111613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafaT@a T & 3R W X # J@F 79 FEC, F@ X UACHF Ui g

Vi —a .

= 16

Yx—2
Options:

. = 250
. w 252
- % 256

4 254

Question Number : 114 Question Id ;: 3210111614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If BO = 30. EBO = 150, then CBO will be equal to:

Options:

o R 60
= % 100

4 % 120

Question Number : 114 Question 1d : 3210111614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e BO = 30, EBO = 150 g, aF CBO & sUsT gem;

Options:

1 90‘



- = 100

. & 120

Question Number : 115 Question Id ;: 3210111615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If $ stands for — . (@ stands for —, * stands for =, % stands for +,
then what would be the result of the following expression
‘16%3548%8(@5°7
Options:
1 ® 48

> o 49

Question Number : 115 Question Id : 3210111615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IS, + F AENT AT &, O @, — F FFEAT AT &, «, x F FEOT F@ g HT %, + F
AFRg w1 g, ar FeaeaT eaes F afuns w2
16+3%48%38@5

Options:

oo 49

Sub-Section Number: 3
Sub-Section Id: 32101152
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 3210111616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



There are three persons denoted by A, B and C. A and B can do a piece of work in 12 days. B and C in 15 days, and C
and A in 20 days. Then how many days B alone can do the same work?

Options:
, = 30days

25 days
5 o 20.days

60 days

Question Number : 116 Question Id : 3210111616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABiIRCegmamsdm affgdi s s M AR B 12 AT & B ik C 15 = & R
C 3R A 20 T # =¥ T €, 7 B 3960 3T F1F F Faa @A § = TFar 27

Options:

|« 30 R
 « 25 R
o e PO
s = 60 R

Question Number : 117 Question Id : 3210111617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 2x + 3y = 5 and xy = 1/18, then 8x7 +27¢3 equals:

Options:
, % 110
- ® a0

s % 130

4 o 120

Question Number : 117 Question Id : 3210111617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



afy 2x + 3y = 5 3T xy = 1/18, 4r 8x3 + 27y® ST ¢
Options:

, % 110
- % 130

4 120

Question Number : 118 Question Id : 3210111618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ABC is an equilateral triangle of side 8 cm. Then the length of each altitude is:

Options:
1 % 2./3cm

5> o 4.3 cm
z ® 3./2 cm

4 % 3./3cm

Question Number : 118 Question Id : 3210111618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ABC, 8cm§mmwma@ﬁap%| AT el o @ o9 g
Options:
1 ® Zﬂcm

5 o 4+/3 cm
= ® 32 cm

4 R 3~J§cm

Question Number : 119 Question Id : 3210111619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The diagonal of a rectangle is 10 cm and it is twice the length of one of the sides. Then the area of the rectangle is:



Options:

25
— cm?

1 ® ‘V{’E
5 % 203 am?
= # 25cm?

i« 253 am?

Question Number : 119 Question Id : 3210111619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF HOS F B0 10 om & HR 7E @ o=met F @ R v Fr d@ ¥ aepw g @ g &+
&SR &

Options:

25
2

1 ® \'E
5 % 204/3 cm?
=z # 25 cm?

4 & 25v3 cm?

Question Number : 120 Question Id : 3210111620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The volume of a right circular cylinder whose curved surface area is 2640 cm” and circumference of its base is 66 cm,
is:

Options:

|« 13860 ¢m?

> # 7720 cm?

= # 3465 cm?

4 # 15440 cm®

Question Number : 120 Question Id : 3210111620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

3@ FEcAIT fAUE # WA AT HIfS, Swhr T TaE 7 a6 2640 cm® & 3t zEF amw
&I g 66 cm &

Options:

.« 13860 cm?
- % 7720 cm?
5 % 3465 cm®

4 % 15440 cm?

Question Number : 121 Question Id : 3210111621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

98 T AT F TF FY F STFA F THA F 0T FAF HAFRX F 50 TFER T F TF H
HTRTHAT 5| & Tl TeU & T I oA g

Options:

;1 % 130 cm

- % 120 cm
z « 140 cm

4 % 125 cm

Question Number : 121 Question 1d : 3210111621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
50 square stone slabs of equal size were required to cover a floor area of 98 sq. m. Then the length of each stone slab is:

Options:
1 ® 130cm
> % 120 cm

= o 140 cm

4 ® 125 cm

Question Number : 122 Question Id : 3210111622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Two of the side faces of a pyramid are equilateral triangles and the other two side faces are right angled triangles. If
length of each side of the equilateral triangles is 6 m, then the volume of the pyramid is:

Options:
. % 183 m3

5 & 362m?
5 % 60V2m?

4 % 243m?

Question Number : 122 Question Id : 3210111622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

v RRIAE & 2 T Fos FHaE SRS ¢ AR 3T & IRF ters FEET BRiS gl 3 gHeE Bee
$T JedF ST Y FaTS 6 A g, ar OufEs #F dTas

Options:

, % 183 m?

5  36V2m?
s % 60V2m?

4 % 24V3m?

Question Number : 123 Question Id : 3210111623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2sin o COS50
— —x,dr = FyET
1+ coso+sino 1+sino
Options:
1 ® 1 + X
=z W X
R 1 = L

Question Number : 123 Question Id : 3210111623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Cos 0
. =&y then P

1+ coso+sin o 1+smn o
Options:

1 % 1+Xx

If 2t 8 equals:

o W 1/x
T ® X

4 ¢ 1-X

Question Number : 124 Question Id : 3210111624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the top of a 9 m high building, the angle of elevation of the top of a tower is 60 ° and the angle of depression of its

foot is 45° . Then the height of the tower is

Options:

% 3P m

Question Number : 124 Question Id : 3210111624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 9 HieX F ARE & A T, TF TN F A F seaa F0r 60° ¥ HR 3EF uig g v smeawa
FIOT 45° F| G 2T Fr FEE B

Options:
;% 3V3m
> B Qx@m

s v I(V3+1)m

4@39”1

Question Number : 125 Question 1d : 3210111625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The area of the Polygon is:
Options:
, w nhotequal to the area of the Histogram

- % equal to the area of the Frequency Curve
- » equal to the area of the Ogive

4 « €qual to the area of the Histogram

Question Number : 125 Question 1d : 3210111625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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